B \R BT RENSE TG (B RIS TR HHTE 9f 68 (1)
Frx

= g & B &t = & E fi& £ B 8

( (kg)

WA 28.5 2,484 2,160 907 10 Va9 LL
LA 972 — 864 1 A M
IZALA 28.4 2,592 1,944 1,944 10 Va9 L
IZALA - 1,296 — 10 L
ZIES5 0.6 BERE 1,404 — 1,296 A LL
ZI1ES5 = I - 734 — 1
[E<E0LY 7.1 £ % 5,400 — 4,860 150 A 6
HTE 1.1 2 2,592 — 2,376 4 A L
ZEDIE 6.9 2 [ 1,620 1,296 1,188 4 A M
TRy 98.5 B E 1,415 1,026 1,026 10] vay 8
TRy E % 1,296 - 1,080 10 A L
IE5SNAZES 1.2 =l — 238 — 0.15] A L
hE 6.7 JtiEE 3,888 1,836 1,836 5
_hE 1.5 2 [ 5,508 2,268 1,296 3l A M
125 1.9 =0 4,590 4,050 3,240 5] vay
L) — 2.1 E % 4,536 1,890 1,620 10 A LL
FRINGHR 1.5 EE X 113 — 108 0.1 vay M
LAR 18.5 E % 3,348 3,024 2,970 10 A 16
LAR 2 [ 1,944 810 810 1 A L
FoTHA 1.0 2 [ 2,268 1,944 1,134 3l A M
=p5Y 19.0 ERE - 270 — 1 A
=p5Y = 2,808 2,808 2,376 5] A M
ANESSED) 8.0 BRE - - - PR
ANESSES) dtiEE 2,700 1,836 1,836 10 vay 5
Al 6.5 BRE - 135 — 03] A L
Al =I5 1,836 1,080 1,080 5/ B L
k< 23.8 X & 3,024 2,376 2,376 4f A 24
[&=T% EEES 2,376 2,052 1,944 4 vay S
I=kTh 6.4 E X 270 259 248 02| vay M
==kTk ElE 3,564 3,564 3,132 3l A S
F—<> 7.0 X & 109 86 86 0.15 A M
F—<> — 3,780 - 10
93 1.9 97 81 76 0.1 A M
[2H5Y 2.0 1,361 864 648 3 A M
SPVAITFA 0.1 N — 1,944 - 2l A LL
MHALE 6.5 S 2,592 1,782 1,782 5/ A L
MALE RS 2,160 2,052 1,782 5/ A M
[EhiLs 35.3 JtiEE - 2,268 - 0] A L
[ECTRYNS JtiEE - 1,944 - 0] A LM
=L 0.6 BRE 3,240 3,240 1,296 5/ A
AL 25 "5 & - 4,644 - 0] ¢ LL
f=Fh&E 66.2 JtiEE 4212 3,240 2,808 20 L4'4
f=FhE JtiEE 1,750 — 1,512 10 L4 (
f=FhE = 2,592 2,484 2,376 20 L4 (
IZA(2 1.1 "5 & 3,024 2916 2,700 1 A L
ELLV=T 15 BRE - 108 — 0.1 M
HELLV=IT =l 97 97 76 0.1 A L
ZDEET 8.9 K & 65 44 43 02 A
LHL 1.9 2 [ 97 65 59 0.2
ESES T 421.2
B=

= g fm B & = E E fi& £ B 8

( (kg)

BMAHMAEE 6.4
INDRH DA 55 - 2,160 — 5| 7hv1 L
INDRH DA - 2,700 — 5| 7hv1 M
INDRH DA 2,376 — 2,160 5| 7hv1 S
INDRH DA 2,484 2,160 1,944 5 L
INDRH DA - 2,268 — 5 M
INDRH DA - 2,268 — 5 S
LEY 3.8 6,804 4,860 4,860 17 165
INLUYVT 2.0 7,020 6,480 5,400 17 88
L7y 0.3 5,184 — 4,968 15 35
YATE 19.3
2B 16.6 6,048 6,048 5,940 10{ w1 40
oaF3)Lk 0.1 6,912 — 6,480 10
AL - 7,560 — 10l vay 36
HA%ZLE 31.1
2K 30.4 & — 4,320 — 10 D 3L
—tid#e 0.3 £ - 4644 - 10| 742 32
ZTDHMEL 0.4 HE - 4,644 - 10{ 7hv2 28
3HET 1.3
3% 1.3 4,320 2,700 2,700 5] vay 15
FTHLE 0.1
JIL—> 0.1 — 378 — 04| vay LL
SESE 8.9
Bilg 3.1 1512 1,296 864 120 A Wyl
[ 1.4 5,940 5,400 4,644 5| 74¥a 10
~N1)—A 0.2 — 238 — 0.3| 7hva LL
AOVEF 0.9
7—ILR 0.6 5,184 — 4,860 8 L
ZDADY 0.4 5,400 — 5,184 10 6
INFF 15.4 5,584 3,791 3,285 15
NAFyFTIL 4.4 3,456 3,132 2916 10 8
FoA4T)LY 2.8 4,968 4212 4212 5.8 27
BERE 97.6




